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INSTRUCTIONS
All guestions are of objective type having four answer options for each Only one option is
correct. Correct answer will carry full marks 2. In case of incorrect answer or any
combination of more than ong answer, ¥ mark will be deducted.
Questions must be answered on OMR sheet by darkening the appropriate bubble marked A,
B, C, or .
Use only Black/Blue ball point pen to mark the answer by complete filling up of the
respective bubbles.
Mark the answers only in the space provided. Do not make any stray mark on the OMR.
Write question booklet number and your roll number carefully in the specilied locations of
the OMR. Also fill appropriate bubbles.
Write your name (in block letter), name of the examination centre and put vour full signature
in appropriate boxes in the OMR.
The OMR is liable to become invalid if there is any mistake in filling the correct bubbles for
question booklet number/roll number or if there 1s any discrepancy in the name/ signature of
the candidate, name of the examination centre. The OMR rrk]! also become invalid due to
folding or putting stray marks on it or any ?a.p The consequence of such

invalidation due to incorrect marlung o mle ud‘ﬁm;_. by the candidate will be sole

responsibility of candidate g, 7. 4 =

Candidates are not al iuwegm i:nrry any written or printed material, calculator. pen, docu-
pen, log table, wristwatch, any communication device like mobile phones etc. inside the
examination hall. Any candidate found with such items will be reported against and his/her
candidature will be summarily cancelled.

Rough work must be done on the question paper itself. Additional blank pages are given in
the question paper for rough work.

Hand over the OMR to the invigilator before leaving the Examination Hall.

This paper contains questions in both English and Ben gali. Necessary care and precaution
were taken while framing the Bengali version. However, if any discrepancy(ies) is /are Tound
between the two versions, the information provided in the English version will stand and will

be treated as final,
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English Language
I.  Choose the word, which has nearly the same meaning as EXUDE.
Drop (B) Ooze
Overflow (D) Evaporate

(C)

3. Choose the word, which is opposite in meaning to IMPOUND.

(A) Compound (B) Cencrate
(Cy Dollar (D) Release
3. Pick out the word that has either nearly the same meaning Or Opposite meaning 10
CANDID.
(A) Contact (B) Secretive
(Cy Diagonal (I Cancel

4. Choose the word that can replace both the words in italics in the two given sentences,

I
II.
(A)
(€)

n

The stadium can seat more than one lakh pc 1

Sujan agreed to aajru'-f hl‘-n plamth\ﬁmq}

Hold o e (B) Accommodate
1 "I

Arrange - (D) Participate

Observe the two italicized words in the following two sentences and give your

observation by choosing any one option below.

L.
I
(A)
(B)
(C)
(D)

F.conomics

A vote of censur was passed against the Chairman
Every film needs a clearance from the Censor Board.
Only sentence-1 is correct.

Only sentence-11 is correct,

Both sentences [ and Il are correct.

Neither sentence-1 nor sentence-l1 1s correct.
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Choose the option. which can best replace the group of words given
To congratulate someone in a formal function
(A) felicitate (B) celebrate
(C) wish (D) solemnize

Choose the most effective word to fill in the blank 1o make the sentence mearmngiully
complete.

Some people themselves into believing that they are indispensable to the
organization they work for.

(A) force (B) delude

(C) keep (D) ask

Choose the most appropriate pair of words from the options given below to fill in the
blanks in the given sentence in the same ordgr 1o make the sentence meaningfully
complete. g
P In'l
She was ~ because all her plans had fene

(A) frustrated, magnificently :__ (B) elated, wild

(C) dejected, splendidly s (D) distraught, awry

6"
Fill in the blank with t -:Eﬂn.h appropriate word/ group of words 1o make the sentence
meaningfully completes_*

The horse stampeded and tore _the street.
(A) after (B) off
(C) down (D) out

Pick out the group of words, which completes the given sentence most meaningiully.
He is so poor

(A) to buy meals daily (B) because buying meals

(C) that he cannot buy two meals a day (D) to get two meals a day

Find out which part of the sentence has an crror.

There is still little tea _and some biscuits  are lefl for you

A ® () D)

FEconomics 4
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Choose the most suitable phrase to replace the italicized part of the sentence given below.
He did not even talk 1o me, leaving aside staying here.
(A) leave aside (B) leave beside

(C)  leave besides (D) after leaving aside

Choose the most preferable sentence in respect to grammar, meaning and usage in order
to express the intended theme.

(A) Itis not common to see an alligator basking in the sunshine on a river bank as long
as twenty feet.

(B) It is not common to see an alligator as long as twenty feel basking in the sunshine
on a river bank.

(C) It is not common 1o see an alligator basking in the sunshine as long as twenty feet
on a river bank.

(D) It is not common to see an alligator basking as long as twenty feet in the sunshine
on a river bank.

Arrange the four parts of sentences gix en pe luwi :rhr‘:r to fill in the blanks in the
given sentence to form a mmpl‘e!c"m‘;:my]gmi sertence.

The man whom I hit on U’bu.l':.nd il T'ery for mercy.
(P) says that when he meets me

(Q)  on my way back from school

(R} on the road

(8) he will beat me

(A) QPRS (B) PORS

(C) SPROQ (1) SROQP

A sentence 1s given in active (or passive) voice. Out of the four alternatives given select
the one which best expresses the same sentence in passive (or active) voice.

I remember my father taking me to the zoo.

(A) I remember taken to the zoo by my father.

{B) [ remember being taken to the #00 by my father.

(C) I remember myself being taken to the zoo by my father,

(D) I remember | was taken to the zoo by my father.

Economics 5
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MATHEMATICS
log 5 + log(x® + 1) &

The number of solution(s) of

log (x - 2) =218
log 5+ log(x? + 1)
g (x-3) =2 -8 TR Ao 7
(A) 0 (B) 1
(L) 2 () 3
17.  Number of divisors of 38808, |except | and the number] is
16 38BOR W9 38RO -49 TIEH[FT Hd &
(Ay 72 (B) 68
(Cy 70 (Dy 74
18. The number of all possible selections of one or nmrq‘;.l'tj!inna from § given questions,
each question having an alternative, is "'"‘j'
wn qme oqrae Aol «e faaret oy pow wie | @ A IR U TorHE
AT 'H A
(A) 28-1 - (B) 3%-1
(C) 481 & (D) 382
19. Foralln e N, 72"4 301 2303 ig divisible by
TEA neN-GF T 720 4301 2300 o we feeren 2@ @ E
(A) 24 (B) 9
(Cy 13 (D) 25
20. The sum of the coefficients of all the integral powers ol x in the expansion of (1 - Z\ﬁ' j
Is
(1+20Jx )V -3 fRefors x-gz b qres wwres 2@
(A) 3%+ B) 3%-1
1 [
() 53%-1) (D) (3=
Economics [

A



PUBDET-2019

21, If the 3™ term in the expansion of (x + cOB10%)S is 10°, then x can be

(x+xluﬁll}"}j LI - | fﬂfﬁt@ ‘i?@'!l 9 10°%A x I

(A) 1 {B) 10
(€) 10 () 10
1 2 1]
22. If A=|-1 1 2 |,thendet(AdjA)=
2 -1 1]
1 2 -1
A=[-1 1 2 |=Fdet(Adj A) 2=
2 =] ]
(A) 14 (B) (14)°
(Cy (14)° (D) (14

o
23.  For any two non — empty sets A and B, (A - B)ws (B - A) is equal to

WEW W6 S 06 A @ B-93 T¥E (A - H]-,;,@g,'ﬁ{m
(A) A-(ANB) PR, B B) - (A B)
(€) B-(AnB) N Y )

. W
"I|-=.arll

24.  Which of the following is a bijective mapping on the set of real numbers 7
frafefas foavsfas wa @Rl = - & aloe Tofabad 2ra?
(A) 2x-5 (B) x|
(C) x* (D) x=+1

ix a b
25. Theequation @ x bi=0holds for

a b
x a b
a r b= N Gw e o
a b x
(A) a..h.-{a+h) (B) a-b.a+b
(C) —a,/b.a+b (1) va.-h~-[a+b}

Economics 7
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l a a -=he
26. Let A=|1 b b% —ucl.then
]
| e ¢* —ah
¥ & a2 -
TA T A={(1 b b° —ac|.M@
1 ¢ -:.II —ibh
(A) A=abc (B) A=0
(C) A=a+b+e¢ (D) A=a'+b +c?-3abe

27. A, B are non-singular symmetric matrices of same order & A. B commute. Then

(A) A B !is symmetric (B) A 'Blis skew symmetric
(C) A 'B!isorthogonal (D) A "B lis identity matrix
Auﬂwﬁﬁiﬁ&mwﬁﬁﬂmmfﬂzwﬁﬁwml
AT, A
(A) AR ooy il ,.@‘_.x 'B ! feafems wlie
(C) A'B =% W% e Moy ais s g
T W
2N
3 1 e o 0] o 2]
28, LetE=| A= (8= ,C=" " | ThenE =
1 -1 | 1o 0 -1]
. [3 1 1 1] 0 o] [o 2
A FT L= A= B W oA k=
-1 1o N R
(A) 2A-B+C (By 3A-2B-C
(C) 2A-35B+C (D) 3A+2B-2C

29. OnE, arelation p is defined as follows -

Ifa,be R, aphbholdsiffa - b is zero or irrational. Then

(A) pisonly reflexive (B) pisonly symmetric

(C) pisequivalence relation (D) pis not equivalence relation
TE ¥ a.be B-99 T apb 9S4 MES (¥ a-b=07 g™ | [ATFA
(A) p SEH@ TAY FoAE (B) poqE@ offeww FouE

(C) p SYH@ FAGH HoorF (D) p AW HoAE Y

Economics 8
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0 ¢ b/
Let A=|¢c 0 a Then
b a 0
0 ¢ hf
AT T A=|c 0 a L]
b a !}J
—a’ ah ca ~a® —ab ::aﬂ
(A) A=|ab -b® be (BY A=|-ab +b —he
L::IL be —¢? {—uc —he “"‘::.
(C) A=(a+b)(b+c)(c+a) (D) A=abe(a+b+c)

A determinant is chosen at random from the set et a!h?démam:, of order 2 with
elements 0 and 1 only. The pmhatun,,s 41\&1..&16@ he determinant chosen is
positive, is Cr o ‘ Yoot &

r}ﬁlﬁmﬁﬁmﬁ%mmﬁﬁmmmawﬁﬁwwmﬁ
eUE | @ ReW Ffurer oW wige zeum wwEE oo

o ]
(A) 16 B 3
3 |

(C) 1_6 (1) 3

If A and B are two mutually exclusive and exhaustive set of events. such that
P(B) = 2P(A), then P(A) =

A 8 B b ww~z fften ¢ s @ e (W) @ P(B) = 2P(A) |
CC%Td P(A) T3

(A) (B)

i b

b ] —

ks | s

(1)

1k | s

(€)

Economics 9
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A circle of area 4 square units has two of its diameters along the lines x + y = 2 and
x -y =4. The equation of the circle is
4n 2 2Ef0 roaws B wefb @A At v v y =28 x -y = 4 IR W
J0ArE | TTETE gefby AR ¥E
(A) +y+0x+2y+6=0 (B) x4y —6x-2y-6=0

(C) x4y —6x+2y+6=0 (D) x4+ yl-6x-2y+6=0

If h denotes the arithmetic mean and k denotes the geometric mean of the intercepts made
on the co-ordinate axes by the line passing through the point (1, 1), then the point (h, k)
lies on a

(A) crcle (B) parabola

(C) straight line (D) hyperbola

(1, 1) s Seeass FAESETy 999 (EAORTE S WHTE b 9 STIEay
wigw k T Bfes v o (h k) el 0 awrs Tor wEe @z o

(A) I8 (B) sfgs

(C) e (D)
PR

Given that 16 h? is the area of the triangle tuun%l_jb‘r the lines y = x, x = y = 2 and the line
through P(h, k) parallel to the x — axis. I}Lhuﬁ ofe locus of P is/are

>

P(h. k) sl @ c-wrER A 2 ﬁﬁmﬂ}'lxﬂx+}=]mﬁ'ﬂ
fafee fagrers Teawe 16 h? FETP-93 F@Eee 203
(A) y—-1=+4dx CF" (B) y—1=3x
(C) y-1=-5x (D) y—-l=+2x

: 44 "y
A line passes through the point (2. — 2) and makes an angle cos 3 0 the positive

direction of the x-axis. If the line meets the curve y2=3x -17 at A and B. then length
| AB | will be

4
ol wEeEe (2, - 2) fewd ga y-SreR g fEE A cos '3 M S
IR | FEEEE y2 = 3x ~17 TEEME A 6 B fEHS e | O AT | AB | T3

(A) g_uuniﬂ*ﬂw (B %unil G

3o
(C) unit / 9FF (13 10 unit / S

Economics 1
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37, The domain of definition of (r) =

3
dy— y*

log 3

f(x)=

(A) |1 3]
(€ [1.3)
5 2
o jim e Dy
1=} X
(A) does not exist
(C) is2
r 2
lim (e H:an Y _ag
x—+l) X
(A) ey wmE
(C) 99 %8 2
.H-
W ey ST g athens T
o
w T _i + T_Ingt.m
d.
(A) x‘a‘_}; ty=gx
. 25 SN
© PFH=y+1-2
40.  The function f (x) ~ABX log 51
X
(A) increases for x> e
(C) decreases forx > e
wrerEE r{;:):ﬂf-fﬂgg 51
(A) x>e-9% T FIIEAW T
(C) x>e-97 G TugrEmW 29
Economics

4x — x%

log

43 W wes 77

11

3

15

(B

()

(B}
(13

(B
(D)

(B)

(1)

iB)
(13

(B
(D)

(1.
(1.3)

15 1

is zero

T 27A |
T A

dv
Xac=Y(ylogx-1)

E('Ej]:;} - X

decreasesfor2 <y <e

F'(x) =0 for x = 2¢3

2<x<e -7 CHE WEEPTA T
f*(x)=0 a7 x = 23
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, 5 d%y dv )
Iflogy=tan™! x and (1 + .t*]d—fj 4 I"[ﬂaxl = (), then f{x)

dy . dy
logy=tan ' x 8 (1 +x%) 75+ fix) 35 =0, 2 flx) =
(A) 2x+] (B) 2x-1
(C) 1-2«x (Dy 2
Let r(.r} =x*logx.xin[l.e]. Then
(A) critical points exist in [1, ¢]

(B) o critical point exists inside the interval but least value is 0 and the greatest value
is ¢?
(C) there are four critical points in 1. ¢]
(D) finite number of critical points exist lw
=k
WA T f(x) =27 logx, xe{l.uu & SR
(A) [l.e] TS Ffafeq fewra, o
(B) wﬁwﬁwuﬁ*rﬂ“&gﬂﬁgmu G WEmE W ol %A
{Cine{ﬁﬂﬁcﬁ%EWWﬁ

(D) [1.e]-T® 3309 e wiaew grame

Let y ]I:; :‘ 5 Then
x+2
M y=3 x+ s | TR
(A)  5y,(0)-4y, (0)+2y(0) =0 (B) 2y, (0)+3y,(0)-4y(0)=0
(C) ¥,(0)+2y,(0)-3y(0) =0 (D) 2y,(0)+5y, (0)-4y(0)=0

Economics 12
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44.  The function f (x) = p[x +1] + q[x ~1] where [x] has its usual meaning, is continuous at

x=1if

((x) =plx+1]+a[x 1], e (1] epsfore mdaz, x - | frare e 22 o

(A) p+g=0 (B p=gq
(€C) p=0 (D) g=0
) . d?y T,
45. If x=2cosb - cos 20, y = 2sin 0 + sin 20, then o a0 =3is
7 d!.
W8 x = 2cost —cos 20, v = 2sin 0 + sin 26, TRO=7 TwA E_‘}Tﬁ
(A) 2 (B) 3
1 I
(C) 3 s (D) 3
.
R
)

- P % Tl
46. It f(xy=a, cos|x|+ B ASIIY [Lay ¥ is differentiable at x = 0, then
s A

B .
"
-

(A) al=ﬂ.a3 =)
(B) a,=0,a,=0
(€) a,=0

(D) a, a,. a, can take any real value

ﬁﬁ.r=ﬂﬁf"§f[fﬁ l‘[.r}=aﬂcusi.r +a, sin | x ta,|x ! SEEEEEeT Ty e
(A) a,=0,a,=0

(B) a,=0.a =0

(C) a|=ﬂ

(D) aja,a WER WA g swa

Economics 13
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Given that the equation ax" +ax" !+ ...+a_ x=10 hasa positive root x,. Then the
equation nau_r“—| +(n —I}ui.r""3 to.ta =0
(A) has no positive real root (B) must have a positive real root > x,
(C)  hasa positive real root < x (I2)  has no real root
=0 e 3 e [w ox, WE | TUSE
nagr“"|+(n—l}aij"3+ ..... +8_ = () FAEAreTd
(A) T@W @Iy Jer 73 (B) wa=3 «af wrge e > @@
(C) «=fo ¢vroge W e <x G (D) [FH W AG 4RI A

WG T ap" +ax™i4 4

The period of the function £ (x) = sin*x + cos'ris
f(x) =sin*x + cos'x SeMETET 2 204

(A) 2=n j‘?‘r
(C) =2 rﬁ'ﬁl in

. v

4 ¢
. . ) A . \ 5 .
The differential equation of ﬂ}e.i!‘rylv of curves y =7 + Bx", (where A, B are arbitrary
3

constants) is €
- T

»=—+Bx3muaaaqun}w_ ofgarey waew T 7@

&%y _ &y _ 52
(A) S = 2y (B) X g2 2

dzl..' . d:""-

L e P — W= 5=

(C) 2v oL x*" (D) 2y _dt X

[:'% =y+3>0and y(0) =2. then y(log 2) is equal to

%E:y+] =08 }f[ﬂ]:l‘ﬁ'{_’ﬂ y(log2) -a% 94 %4
(A) 13 (B) 2
(C)y 7 (D) 3

Economics 14 A
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